SR6EE 12 BT %5 F & [HHEzA)

XREILE—FFR

XEEE 4fu6&E | 1B 19R
FRAT B 51T E BE|%| B % *® K BRL
¥ E TR HZR&-CHF BE (£ 1 [2][3[4]5]6]R| & BREREEIBRa & A RE TETETRE
N 1
VDB Y AMER R (48) 5 e
3
L 10000 Ol & 7 T2 -
. 1.24vk STOTETOTE o 4 4 4 212
BE A (48) FTETSTETS &1 4 4 4 2
T1O0[0]0[0 Ol & 7 T2
B - HBRAA 5.64vh STOTETETE & 4 4 4 2|3|¢
FTOTOTETE &1 4 4 4 2
T[O0[0] 0[O0 Ol 3 3 3]
2 MBS 54y STOTOTSS o 3 3 3 1 |a4l|x
El kel kel Kol ke) o1 3 3 3|
c [T|O[O[O]O Ol & 7 )
B - HBRAA 5.64vh STOTETETE & 4 4 4 2|58
FTOTOTETE &1 4 4 4 2
T [O0[0] 0[O0 Ol 3 3 32
> | 808 - BB AE 5.64vh STOTOTS|S o 3 3 3 2| 6|R|#tErn
FTOTETE1s o1 3 3 3 2
BEAF I X 7 | g |FEH%R GO
SNBHVDOEWNMERE (5) b 3 BRE—BERARE
T % BEX
5 8 | Kk [MELH
3 - ﬁ%ﬁé)&téﬁ% SEde
E K (4R #|O[O] O Oof 3 3 3 2 [ &
B e (55 3.4%9k CARSIRCIKS) o) 3 3 3 2|9 |K|ExHOREG)
- o = STETOTETE Ol 3 3 3 2 HERRRBEHAS
BEE T[O[0]0[0[0[0 O 6 (3 (3 ——
B £R2 STOTS ST 1] 6 6 6 10| & g‘;i;g;mﬂé(%@
FTOTETESTESTETE &1 6 6 6
T[O[O| O[O & o[ & 1 5 5
HE2H STETOTEeE &l 4 5 5 ez
FTOTE TS E#E Sla | 5 5
[T D [1|O]|O[O|O]O[O O 6 (3 (3
%ﬁi;ggzﬁﬂ STOTS SIS 1] 6 6 6 12| |
i FTOTETESTESTETE &1 6 6 6
ORE T[O]O[O[O[O[ & Ol 5 T 6 3
R AR R AT IR SHDH5. 65k STETOTE O TSR &l 5 1| 6 6 13| B |[RADR
5% 5. 64 b FTOTETSTESTOTE &1 5 1|6 6
|
5 14| K BB 2% GRE)
3
|
HEAC—F>7F 2 FHR 7 15| K |= B
3
T [Z[0]0]0[0[0 Ol 5 | (3 (3
FEMIL whE ZIETETEOTE & 5 | 6 6 16| k|8 ZES
A Kel kel kel kel Ke) &1 5 [ 6 6
T[O[0]0[0[0[0 O] 6 3 3 BEIUEERE
B STOTE TSSO & 6 6 6 17| & [Exmo R (%)
FTETETS1ESTETE &1 6 6 6 B
T[O|O|O[O|& Ol & 1 5 5
HE2OG STSTETOC]#E ol 4 5 5 18| + | ez
FTOTOTSTEHE Sla 5 5 PABERES BF)
A [T]O][O[O]O|0O O] 6 3 3
STOTETS ST & 6 6 6 19| B
FTETOTS ST &1 6 6 6
1O O] O[OF Ol & 216 (3 B ZERS
FEHE (15) STOTOTETS o a 216 6 20| B |MEBLHEHE
FTOTETETE &1 4 2|6 6 ZokigE (24 -540)
|
2l 2 21K | dogpa
|
22 5 22|k |2E5e
3
T [Z[0] 0000 Ol 5 3 3
23 STEZTE TSSO &l 5 6 6 23| &
STETE1TS1ESTOTE &1 5 6 6
s 10|00 0l0[" O[5 | (3 (3
24| K| Gy STOTESTOTOTH & 5 | 6 6 24| & | =okipsE (2% -55)
R STOTOTOTOTOTHE 01 5 | 6 6
25| 4 [FrE s [t EtEE 5 > 13 [asle
T F|F
IRIEEHEO STHTEE % 2 | 3 3
|
AFKE¥ER (48) ERILHEE ZAR
26| % | s gy 2 26| 8
| s
= FEEIL
27| & |#EErE § 27| B | gomman
|
28 2 28| K
g
|
29 5 2g| K [BE&E
1
30 ? 30| A [#RohEB (1 5)
3
| +
\ wHNZE (245F)
31|k [voseamamue 2 3| & | pusmanns
BEBR(I8) =2 e & 77 2 4 2 3|88 88 T1
TE 74 [ 81 155 |2%|77 2 4 2 3|88 88 ||
2] 76 | 81 57 |3%|77 2 4 2 3|88 88 |1
3F 5 31 56




